EARAROBEEIERT — 2 N— IBISH —F

20165F4H280 (K) 2EI%#A3H

m 7% vy Jitw Y7%R4®EOP \ (xE] & \ (EME]  — | &4 (@) 25000 KB
[A&4£] 1 7% :5,000,000 23 :1,250,000 @ 33 :550,000 4 3% :300,000 @ . 5 7 :150,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N — e EFEREA 244, -2-1- . - EiEfRe (&R
ilgliol =745k 5 ER 2(4_4)7 4-2-1-1 | 38.5 1 ?g; lieics
RN YZtwT T4 L BHITT4—R b B OxE
Ol =) B8 | KHAE 2:44.8 5-5-3-3 |38.6| — 3 482 | MELS (BH)
olzl7|V7—FrL7O> 56.0 (1/2) “10) eyt
L:2=/xLLy b B:UT—RA—H> AR UT-—F
S5 o6 | REEZ 2:45.2 1-1-1-2 [39.2| — 2 5020 | EEFEHIE(S (KH)
3lglg|7IhTIRTI 6.0 @ (0 | B ¥rF-L—-227
LT RIYAY R BT NETHF Y1 L ¥ Tr—L
. 9o drs S Kii—8 : —-8-9- - ioEE (FEk)
N NCERYEEe > 8| Xt 2.(456).3 8-8-9-8 | 38.0 7 (4_428) i
R:xF1zgr—2 B:v4—->vVxy b HBITr—L
. AR 146. —6-4— . — EE/ (1)
sP6l 7717—von "o B | T * o |wEma
R:g=JF¥LLy b BiA—F4ILR J—RENXTZI ALk
TR £ 6 | iESH 2:46.9 10-9-6-6 [39.3| — 9 479 | BARR— (521)
6l1]1|7A—REDV Y 70 %0 (vE (o) |EIIE )
Riy4—I>TLL B:iRI—XYa2Il— () HEa-KL—Ya> AET7
—: 1ERERA : —7-7- - REEE— (5HR)
2 o | FATI -2~ 45 fm 2.(427>.3 7-7-7-7 | 39.5 6 <4_741) iy A
R:F—TRTN—b BEAHIUTR 24 A1 Yt
SIS A 4 6 | AFFBRE 2:48.1 3-4-4-5 |41.2| — 4 473 | AEED (BHE)
8l5|5|NTT> 54.0 ) () | KERE
RGATAT v — BAHVRIT Ay IT—IK J =¥ Ty — I
= s 7 | BR®E 2:48.8 9-10-10-9 | 40.2 | — 10 | 438 |WUER (5542)
9 4| FvFTa—-I 540 3) w4 | B R-2r7
KBy TELAVF— B2y F /) 2HA P95l IE
5 o6 | SHEKX 2:51.5 2-3-8-10 |44.0| — 8 478 | KA (bimd)
N - BEZDEEIA 5.0 G don) |IBBE
LA LINT Ry TR B:AJVE-FZ EE-FS
® 1—F—@EBIERL
1T=7r= 9,3,5,10,7,6,2,8,4,1
23— — 9,10,3,5,7,6,2,8,1,4
Jol=5r= (9,10),7,(5,6),1,2,3,8,4
40 —F— 10,9,7,6,5,1,2,8,4,3
[ N5
B 10 140 714K 7-10 220M e E 7-8 330 JEE 7-9-10 550M
B B 10 100 9-10 140H B = 7-10 540 JEE 10-7-9 1,580H
7 160 7-9 490M B H 10-7 600
9 1309

ABICOVWTRDTEEERROODE. TR LIV,




